S 7 4 RS RS ( 35 HERES  ~<)
1 N
X o = 1 EHEL o veem| ek
5108 1 AR 1/230Kk) ~ 1/23(K) 1HH 1 1 ORF[E]455)
552 8] 2 HEWI& 2/21(%) ~ 3/17(H) 25HME| 16 8| 29KF[E284>
%5 3] 5 A EFRES 5/22(K) ~ 5/23(%) 2 2 2| OW§RE45%)
= 28HTE[ 191 11] 30H%[ME58%y
2 REHREK
[X 7 1EE| 2 | 50 B
£ & ™M 5 5
ER A &= 16 16
H 5t 1 1
— o' M
2 OAa "7 M
i il 2 2
G [ 23 24
3 fREk, H&E - —MERHE
[X o) 1EG| 27 | 56 B
R R B /M 3 3
B - — ik E [ 3 3
i 6 6

1/8




- BEEEER <)

(8

Ay
=F

32'_._’
RS

e

4

AL

AT

1) ff

<t | |\O ]| O|—]|—]|CO IO |M]—|<F N[
m__m N N ee)
%ﬂm — — [lg] oM — m
Lo

MNfMmoTm — || —[—]| OO — Al o\l | [e)
=] I N o
N
.,Wmm — o <t
—

H | i |2

B k| |

o [ | ][ | [ | == a2

, 6 B8 | B2 [ |0 |k [k (398 | |2 (4 |4
\ﬂ +m :_mm |A % ._*EE wﬁm ..._HWT jnid
R e N o[ =l
Ml = 5 2 e 3 [
& v B [i B [ |5 e | K |2 | [ s | |
mi .H.Fm

AL

AR - G 2 B <)

G

LA R (

i

2)

Ne) — N~ | O |||~ < o
ﬂmfb (e.e]
.EMA.. — — O <A O
HH —
Lo
N
mel =
HH

UL KPR RE == === =[R2 |
Rl=| |k EHRHRARHAR R v |we|l

S ||E
XISk [ A (4O 36 B8 [ [ | [KE|ER
% (R (e (K (e (5 (6 (B8 (et | B0 |2 | | e |2

2/8



5 GElE - BUE
1) fIREFFER
[X 9 15| 25| 56 i
Bl J5E
fi 5 1
il 1
2) FESBANGTREAEEL
No. T il ig M GG B
1 ,f\.c}%z_L
2 |RABEEH
3 |WAEGER
4 | REREEER
5 [tEEER
6 |2 & LRI 1 1
7 | PEEIRBELES
8 IR A 22 AR
9 |[fEEHEBTHHS
10 | A i B e 50
11 |2 Imbe
12 | EFkaES
13 [ BB
14 |EEFEE
= 1 1
X () DEFIIDEIEE X 72 BlE o
3) A
X4 Bl Ko wm s B b j‘é? e
fEEAERL - [X 5 FRAR | AR BCE
[IE &S
Hiskx ¥ C 1
B TE 1 & ;ﬂ%% =
i 1

3/8




6 FREEE

4/8

X Vax 15| 25 | 50 Z
ENE N 100 1 101
% L
o =
R4 & it 3 3
S T )
% | 4, e 5 SCH
HE 75 I B
5 B[ R &k
2 Emﬁ%
#oO R
= R
#oo i8 5 5
e NI
nﬁi J\%
/I a1 8 8
At 108 1 109
7 EERAE (HRD) KEEHEE NBUCE D,
H s H % NI
2H28H [b<{bHLR5DE 6
3H3H |[dtmEEAry r7—2 4
3A3H | RISEH 6
3H4H |2 3
8 FHEM (2 AEHI=) B
= IR % B | B R g
HRW®Z 77 81 68 149
N B R B 68 60 128
= % /a\ 67 44 111
HA LR B M 67 54 121
mR#EARKE 65 79 144
B 348 305 653




9 EIEE - —WER
1) 2 HEWZ ([ = 43)
2 IR 4 AN B | ETEIRER | B R SRR | R | CEE R
HERMKZ 5 7 5 (5) 145 136 281 56/ 62 (62) 12 (12)
£l & £ 3 (3) 90 101 191 63| 73 (73) 24 (24)
NI T 3 (3) 84 80 164 54| 50 (50) 17 (17)
Elzlx,fm%%é 3(3) 88 74 162 54 38 (38) 13 (13)
TREAZEER 1 (1) 29 38 67 67| 15 (15) 15 (15)
i Fﬁ |5 1(1) 29 37 66 66| 26 (26) 26 (26)
=t 16 (16) 465 466 931 58[264 (264) | 17 (17)
2) 6 AEHI% (5[ = 43)
2 Ik % N B | ERIRER | B o SRR | BRI RIEC | SRR
&t
3) 9 HEWE (R§fE = 43)
& | % N B | BR[| B R SRR | R R | R
&t
4) 12HEHI& (IR - 43)
2 N SRS CTEIES SEEERT | R | SEE R
2t
¥ ONOBFIE & R A BN L 72 A8 BRI R OSP4 [E5,

K% B m L (A — %)

2 HEWH = 26[H]
6 HEHl = 01x]
9 HE#l = 0]
12 A E #l & 0lx]

5/8




10 ZES

1) FHEHE XEBEFET RV HA7 : H
[X v 15 |1A 2R |2 |58 | 55& 5
maEERER 1 2l 51 1] 2 11
e B L 1 6 7
& P 2tk 6 6
\ R 4 & ik 7 7
WY E kR 1 3 4
(68 | 1 4 5
= | 7 [EEER| 1 1 5
B | RAEwME] 1 4 5
2 | AR R 1 1
#h oL B 1 1
Bl AR R 1 1
I (T 2 2
Z | LW 1 1 2
2) FiklkeH HAT 9
[X 9 1 1A |28 | 2:€ |58 | 55& 5
maEERES 6 26| 29| 8] 44 113
WG L 16 230 246
& P 2t Ex 314 314
‘ R fi Ak 453 453
il B 2 88 90
£ | 28 258 286
% n eEeEl B 313 326
B | RA®EHE] 47 349 396
2 | BERANR 7 7
# oL T 43 43
| A xR 15 15
il o B 84 84
% BRI 18 37 55
KRB R R ORE 2 &, kb, FFEEORBICHRZEFHABFEICOWTIE, FERE2 5
FrvCwv 3,
3) WERRE
7 2 AEHIE v 9 HERI&
X 9 Fr 9Ky [ | EFEHE X 5 Fro B OWF [ | EREH
B X 145y 1 B S
FE PO R 299y 1 =I5
R 4 @ #k 184y 1 R 4 & #k
TRRE 775 4 THRrRE
0L Tl 17 M fi 184y 1 &t
&t 13841 7
 12AEHI&
46 AENI= X 5 T2 W [ | BEREAE
X 9 Fr 9Ky [ | EFMEHE B X
B X =g & 3
FE PO R R 4 & #k
R 4 & TR R E
TR RE a
at

6/8




4) RBWER

H_ M = X _H = b/
5) TN
H A M =" X H = /P

7/8




11 Zofth

1) ®EEW

=26 N\
ey

H

i)

b/

153

-+

[

8/8




